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Software Design and Development 2001 Trial Exam

Section 1

Total marks (20) _ '
Attempt Questions 1 - 20

Allow about 35 minutes for this section

Use the multiple choice answer sheet

Select the alternative A, B, C or D that best answers the question

I. A major manufacturer of gaming hardware and software has found their market position to
be dropping rapidly since the release of new, more powerful machines from one of their
competitors. They are aware of the need to create a machine that will revolutionise the
gaming market, allowing the company to regain its market share. Which of these feasibility
constraints would be of most concem to them:

(A) Budgetary
{B) Operational
(C) Scheduling
(D) y Technical

2. A game is currently being developed. From the user’s perspective the game contains 15
levels. From the software developer’s perspective this is not really the case. Levels 1-4
actually execute the same code. Similarly Levels 5-9, Levels 10-14 and Level 15 execute
separate unique sub-programs.

The most appropriate control structure for implementing this branching would be:
(A) pre-test repetition
(B) post-test repetition
{C)) multiway selection
} binary selection

3. The constructs denoted at 1, 2, 3 and 4 on the structure diagram below are:

1 ,-\ Warehousing

Product code‘/}cx\ \

Receiving 2 Distribution [
Product code‘;/\ Null stock
Supply Re-ordering
4

1 - process, 2 — repetition, 3 —parameter, 4 - call line

1 - parameter, 2 — repetition, 3 — contro] parameter, 4 - decision
) 1 —parameter, 2 - call line, 3 — control parameter, 4 - decision
ARy 1-flag, 2 — decision, 3 — control parameter, 4 - repetition
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4. A file processing technique, which allows the greatest flexibility for variation in file length,

is to use a:
(A) Constant

(B) Parameter
@ Sentinel
Variable

Refer to the following combination box when answering Questions 5 and 6.

Bede Polding Colege
Bega High School

Bega Valley Christian College
Belingen High Schoal

Belmant Christian College
Belmant Languages High S chool
Belmote Boys' High Schoal.

5. The combination box above is used to ensure users only select a school name from those
available in the drop down list box. From the developer’s viewpoint, which of the following
terms best describes the process performed by this combination box?

Data integrity check
Data validation

} Data redundancy check
(D) Menu selection

6. ltems can be selected in the above combination box by entering text. If a “b” is entered, all
the first school commencing with b is selected. If an “e” is then entered the first school;
commencing with “be” is selected.

The code performing this task would mostly likely be based on a:

linear search
(B) Dbinary search
C1  bubble sort

;(E% selection sort

7. In which phase of the structured approach to software development is the user interface
created and code documentation completed?
planning and design
implementation
Y testing and evaluation
(D)  maintenance

8. A retail business contracts a software development company to design software specific to
their needs. This is called:
end user development
. {/{(B)/) custom design
outsourcing

SRy prototyping

Page 3 of 21



Software Design and Development 2001 Trial Exam

9. “Keep ‘m Quiet Software” is a beginning company and has recently developed a program
designed for young children. It decides to distribute this software free on a trial basis. This
software would best be described as: .

p freeware
shareware
) postcardware
(D)  public domain

10. A software company introduces a software package into the marketplace. The package is
designed for a specific and small portion of the market. The product would be considered to
be:

(A)  amarket leader
(B)  amarket challenger

(€ a market follower
@ filling a market niche

11.  The following are all valid forms of the input statement in a particular version of BASIC.
INPUT 2%
INPUT “Please enter your name..”; Name$

INPUT “Enter name, age and gender”, Name$, Age, Gender
INPUT AS{4,8)

Which of the following EBNF statements best specify the syntax of the INPUT statement?

statement = INPUT [<prompt>] (;|,)} <variable> {,<variables}
prompt = *<letters|<digit>|<symbol>{<letters>|«digit>|<symbol>}”
variable = <letter>{<letters|<digits>} [$] [<dimension>]
dimension = (<variable>|<mmbers>{,<variablex>|<number>})
%- statement = INPUT [<prompt>] <variablex>
prompt = “<letters>|<digit>|<symbols>{<letter>|<digits>|<symbols}”
variable = <letter>{<letter>|<digit>}[$] [«dimension>)
dimension = {<variables> |<number>) _
statement = INPUT [<prompt>] (;|,) <variable> {,<variable>}
prompt = “<letters>|<digit>]|<symbol>{<letters|<digit>|<symbol>}”
variable = <letter>{<letters|<digits>}[$] [«dimension>]
dimensien—=—{<variable>{, <variable>})
;ﬁi statement = INPUT <variable> {,<variables}
prompt = “<letters|<«digit>|< symbol>{<letter>|<digit>|<syrnbol>}”
variable = <letter>{<letter>|<digit>}
dimension = <variable>|<numbers{, <variable> |<number>}

-

12. A student examines the source code of an old game she has at home to understand its
workings. Her intention is to create a program that will interface with this game. This
process is called

}‘}\')’ backwards chaining
reverse engineering

decompilation

,ﬂQ plagiarism
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13.

14.

15.

16.

Following are machine code instructions for a particular CPU

IPT input a 2 byte binary ASCII code from the keyboard into the address specified.

LR load the specified register with the data held in an address.

CMR compares the contents of the two registers, and stores the largest value in the
first register

SR copy the contents of the given register into the given address

PR display the contents of the specified address.

The following machine code fragment is written

IPT 2003
IPT 2005
LR 01, 2003
LR 02, 2005
CMR 02,01
SR 02, 2003
PR 2003 .
If the data 3, 2 is input, what is the resultant output?
(A) 2 |
y 3
C) 2003
(D) 2005

The role of the program counter in the fetch-execute cycle is to

&y
B,

B

An inexperienced new user of a recently developed software product would be most likely to

count the number of instructions that have been processed
specify the number of bytes to be fetched from RAM
count the number of programs currently in RAM

hold the address of the next instruction to be executed

need to refer to the

(A)
(B)

When developing a new piece of software, the most appropriate order for a vanety of testing

data dictionary , tutorial and installation guide
user manual, system flowcharts and source code
algorithms, reference manual and process diary

| user manual, 1utorial and on-line help

procedures would be

)
)

structured walkthrough, test data, peer check

desk check, peer check, systems test, volume test data

eliminate run time errors, remove syntax errors, acceptance testing
use of CASE tools, testing report, module test, volume test data
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Refer to the flowchart at right when answering Questions 17,

17. This flowchart is an implementation of a{n):

% insertion sort

selection sort
bubble sort
) quick sort

18, 19 and 20,

Swap = True

18.  Which identifier could be classified as a flag?
{(a)) Swap
(B)-- Comp
(C) Item
(D) Num

19.  Presumably a subroutine exists to perform the
Swapltems process. This process could contain
the lines:

(A) Item(Comp} = ltem(Comp + 1)
Item(Comp + 1) = Item(Comp)

(B) lem{Comp) = Item(Comp+ 1)
Temp = Item(Comp)
Item(Comp+ 1) = Temp

(C) Temp = Item{Comp)
ltem(Comp + 1) = Item(Comp)
Item{Comp) = Temp

Swap = False
Comp=1

No Item{Comp} <

hem(Comp+1)?

Swapltems
Swap = True

Add 1 10 Comp

Temp = Item(Comp)

Item(Comp) = Item(Comp + 1)
Item(Comp + 1) = Temp

20,  What are the bounds for the index of the array *'Ttems”
- OtoNum
(B)' 1 to Num
0to Num + !
(D) 1toNum+1
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Section I

Total marks (60)
Attempt Questions 21 - 23
Allow about 1 hour and 50 minutes for this section

Answer in the spaces provided on this paper.
If you include diagrams in your answer, ensure they are clearly labelled.

Question 21. (20 marks) Marks

(a) PBC High School is currently using a computer system in the administration section
of the school. This system is not performing the way the school would like and they
now are in the process of developing a new system. A systems analyst has been
employed to assist with the development of the new system. As part of the process
the analyst discusses with the school the paraliel and phased methods of conversion.

(i) Discuss the advantages and disadvantages that the analyst may present for 3
EACH method of conversion.

" (ii) Explain the factors that shovld be considered when drawing up the licencing 3
agreement between the school and the software development company.
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(b)

(ii1) Describe the documentation that needs to be created by the analyst’s company
before the implementation of the solution commences.

When using CASE tools it is possible to track the changes that are made to a
program, this is termed versioning. An operating system has progressed through the
following versions:

058, 058.1, 0S58.1.1, O88.2, OS9

Discuss the general nature of the changes that have occurred in the software as it has
progressed from OS8 1o OS9.

Page 8 of 21
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(c)

An Interstate bus company travels between Sydney and Melbourne. Along the route it
collects passenger’s at designated terminals. The bus company decides that at each
terminal a touch screen will be installed as quickly as possible. The screen will
provide the following information:

» atimetable for all their buses

» the estimated time of arrival of all buses currently on-route.

(i)  Describe the software development approach that would be most suited to this -
project. Justify your answer with reasons.

(ii) Identify the constraints that would need to be considered in determining the
technical feasibilitv of this system.

- ¥ . N
miny Create a conlext diagram for one of the touch screen termnals.

Page 9 of 21
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(iv) Discuss the methods by which the quality of this product could be assessed.

End of Question 21
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Question 22. (20 marks})

(a)

R —

A birthday notification system is currently under development. Essentially the
program will display a list of people who have birthdays within the current morth.

The data for this system is read from a text file containing names and birthdates. A
sample file is reproduced below:

Johnno, 14,6,1983

Smithy,27,11,1984

Jen, 2,1,1990

Margy,17,8,19877

(i) Design and describe a possible data structure that could be used to store the data
retrieved from the text file. Justify your chqice of data strycturg.

(ii) The following structure diagram is being developed to describe the connection
between sub-routines within the program.

BinhNote
ReadData Find BDays Edit BDays
CheckMonth Add BDay Delete BDay

Nacerihe in words. the processing modeled by the above structure diagram.

Page 11 of 21
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(iii) The IPQ chart that follows describes the processing required by the “Delete
BDay” process.

IPO CHART for the DeleteBDay process

Name Find name in array
Set flag to true if found or false | True or False
if not found

Store the index of this item
Move lower items up 1
Decrement number of items

1. Create an algorithm using either pseudocode or a flowchart to accomplish this
task. Your algorithm should use the data structure you designed in part (i).

Page 12 of 2]



Sofrware Design and Development 2001 Trial Exam

5 Would the DeleteBDay process be best implemented as a sub-program or as
a function? Justify your answer.

3. Parameters are vital to “top-down design” methodology. What are parameters
and how do they assist the top-down design process? Use the DeleteBDay

process to illustrate your answer.

Question 22 continues on the next page

Page 13 of 21
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(b) Testing of software solutions occurs throughout the software development cycle.
However, the use of live test data is usually performed once the final product is
operational.

(i) What s live test data and how does it differ from other types of test data?

(1) Live test data is often used to test and evaluate particular possible scenarios.
Describe TWO different scenarios that may be tested using live test data. In each
case describe the nature of the test data set.

End of Question 22
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Question 23. (20 marks) Marks
The following scenario is to be used for parts (a) to (e).

You have been asked to design and develop a program which will test students in Year 7
on their French vocabulary. There are 40000 words they need to be tested on, categorised
into easy, harder, difficult and challenging categories, with 10000 words in each category.

You have been directed to store the words in a relative file on disk (called WORDS), rather
than processing them in an array in memory, as there are concerns as to both the memory
and processing speed required for an array-based solution.

(a) Why do you think a relative file has been specified for this task? Describe your
% choice of structure and order of the records within this WORDS file.

(b) Design an dlgorithm, in pseudocode, to print a random word from the correct’
category on the screen, and ask for its English equivalent translation. If the
translation is correct, print the message "well done”, otherwise print the correct
translation.

Page 15 of 21
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(c) Draw a storyboard for the French program, labelling good design elements.

(d) Assume that you now wish to make use of a new hardware device which will 'read’
and pronounce the words in a French accent as they are displayed. This device is
radically different from current voice synthesisers, and uses quite different logic from

any current device.

Describe all of the steps and resources required to allow your program to be able to
use this device.

Page 16 of 21
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(¢) The following EBNF definitions define the verbs to generate a random number, and
to read a relative file in a particular language.

Read a record:
GET <«variable> FROM <variable> USING <variable>

where
GET input_rec FROM stock_file USING part_no

reads the part no'th record from stock _file into the variable called
input_rec.

Random number generator:

«<variable> = RND(<value>) + <value>

where RND (10) returns an integer value from 1 to 10

Screen display:
OUTPUT <«<variable> at <value>, <value>

Other required definitions:

Letter = _|.|alble{d|e|fig]... |x|y|z
variable = <Letter>{<Letter>}

digit = 0{1|2}3]|4|5]|6]|7|8]|9

value = <digit>{<digit>}

Write a series of statements to generate the next e¢hallenging French word to be
displaved at a position 100 across and 250 down.

Question 23 continues on the next page
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(f) Debugging code can be a frustrating task. Fortunately there are many techniques and
tools available to assist programmers to isolate errors in their code. Name and
describe the techniques or tools available to assist in the location of errors in source *
code. '

End of Question 23
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Section 111

Total marks (20)

Attempt either Question 24 or Questions 25

Allow about 35 minutes for this section

Answer the question on a SEPARATE piece of paper.

1f you include diagrams in your answer, ensure they are clearly Jabelled.

Question 24 — Evolution of Programming Languages (20 marks) Marks

(a) In this Option you have studied three new paradigms. Discuss the historical reasons
for the development of new programming paradigms. As part of your discussion 4
explain why Object Oriented languages have become so popular when languages
based on the Logical and Functional paradigms remain uncommon.

(b) The logic paradigm is based on facts and rules. Consider the following series of facts

and rules.
Facts Rules
1. mike is a deeg 1. If Ais adeegand B is a roon then A can

bill is a deeg joop B

mary is a roon 2. If A can joop B then B can joop A

3. If A can joop B and B can joop C then C can

2

3

4. fran is roon }
joop A

5

sam is a roon

Use the above facts and rules to answer the following. In each case explain your 6
reasoning logically using only the given facts and rules.

(i) Can a roon ever joop adeeg?
(i) 'Who can mike joop?
(iii) Is it possible for someone to joop themselves?

(iv) Discnss the meaning of the terms backward and forward chaining. Give an
example of each using the facts and rules above.

Question 24 continues on the next page
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(c)

(d)

Motor vehicles are a good example of object-oriented design. Each time a new car is
designed it is not necessary to design new tyres or new brake pads or even a new
engine, rather many of the parts are rensed from previous vehicles. These parts have
been thoroughly tested and can be used in the new model with confidence.

Explain the meaning of each of the following object-oriented terms. Use aspects of
the design of motor vehicles to provide an example to assist your explanation.

() class
(i1) inheritance
(ii1) encapsulation

(iv) polymorphism

Programs written using functional programming languages are often significantly
shorter than similar programs written in other languages.

(1) Why is this the case? Explain.

(i1) If the code is so short then why aren’t we all using functional languages?
Explain and justify.

Page 20 0f 2}
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Question 25 — Software Developer’s View of the Hardware (20 marks) Marks

(a) The ASCII value for A is 65. What would the text string ‘FaCe’ look like as storedin =~ 3
memory, expressed in hexadecimal format?

(b) Using an 8-bit binary system, what decimal value does the bit string 10110111, 2
represent?

(c) What is the maximum range of numbers that can be expressed using a 3 bit two’s
complement binary number system? Demonstrate your answer using a table of

values.

(d) Using the ‘shift and subtract’ method and the binary number system calculate 74 )
divided by 5.

(¢) The IEEE single precision floating point standard has been accepted and
implemented within the floating point umt (FPU) of most modern microprocessors.

(i) Convert 24.250 to the IEEE single precision floating point standard 3
representation, and verify your answer by converting it back to its decimal

representation.

(i1) Explain the role of the exponent and bias 2

(f)  Design a circuit with 3 inputs which will only output a 1 value if the third input OR
the first two inputs are 1. If all 3 inputs are one, a zero is to be produced. Confirm
your answer with a truth table

(g) Describe how flip-flops are able to store binary digits. ' 9

END OF EXAMINATION
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Section 1

Total marks (20) _ '
Attempt Questions 1 - 20

Allow about 35 minutes for this section

Use the multiple choice answer sheet

Select the alternative A, B, C or D that best answers the question

I. A major manufacturer of gaming hardware and software has found their market position to
be dropping rapidly since the release of new, more powerful machines from one of their
competitors. They are aware of the need to create a machine that will revolutionise the
gaming market, allowing the company to regain its market share. Which of these feasibility
constraints would be of most concem to them:

(A) Budgetary
{B) Operational
(C) Scheduling
(D) y Technical

2. A game is currently being developed. From the user’s perspective the game contains 15
levels. From the software developer’s perspective this is not really the case. Levels 1-4
actually execute the same code. Similarly Levels 5-9, Levels 10-14 and Level 15 execute
separate unique sub-programs.

The most appropriate control structure for implementing this branching would be:
(A) pre-test repetition
(B) post-test repetition
{C)) multiway selection
} binary selection

3. The constructs denoted at 1, 2, 3 and 4 on the structure diagram below are:

1 ,-\ Warehousing

Product code‘/}cx\ \

Receiving 2 Distribution [
Product code‘;/\ Null stock
Supply Re-ordering
4

1 - process, 2 — repetition, 3 —parameter, 4 - call line

1 - parameter, 2 — repetition, 3 — contro] parameter, 4 - decision
) 1 —parameter, 2 - call line, 3 — control parameter, 4 - decision
ARy 1-flag, 2 — decision, 3 — control parameter, 4 - repetition
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4. A file processing technique, which allows the greatest flexibility for variation in file length,

is to use a:
(A) Constant

(B) Parameter
@ Sentinel
Variable

Refer to the following combination box when answering Questions 5 and 6.

Bede Polding Colege
Bega High School

Bega Valley Christian College
Belingen High Schoal

Belmant Christian College
Belmant Languages High S chool
Belmote Boys' High Schoal.

5. The combination box above is used to ensure users only select a school name from those
available in the drop down list box. From the developer’s viewpoint, which of the following
terms best describes the process performed by this combination box?

Data integrity check
Data validation

Data redundancy check
Menu selection

6. Jtems can be selected in the above combination box by entering text. If a “b” is entered, all
the first school commencing with "b” is selected. If an “e” is then entered the first school;
commencing with “be” is selected. A e pY slyle

The code performing this task would mostly likely be basedona: i, .. so [
linear search ' boiel ol
(B) binary search Ao 6 ol w
bubble sort \ {
ook o F HERe

;(E% selection sort

7. In which phase of the structured approach to software development is the user interface
created and code documentation completed?
planning and design
implementation
Y testing and evaluation
(D)  maintenance

8. A retail business contracts a software development company to design software specific to
their needs. This is called:
end user development
. {/{(B)/) custom design
outsourcing

Ry prototyping
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9, “Keep ‘m Quiet Software” is a beginning company and has recently developed a program
designed for young children. It decides to distribute this software free on a trial basis. This
software would best be described as: .

< freeware
shareware
) postcardware

(D)  public domain

10. A software company introduces a software package into the marketplace. The package is
designed for a specific and small portion of the market. The product would be considered to
be:

(A)  amarket leader
(B)  amarket challenger

(€ a market follower
@ filling a market niche

11.  The following are all valid forms of the input statement in a particular version of BASIC.
INPUT 2%
INPUT “Please enter your name..”; Name$

INPUT “Enter name, age and gender”, Name$, Age, Gender
INPUT AS{4,8)

Which of the following EBNF statements best specify the syntax of the INPUT statement?

statement = INPUT [<prompt>] (;|,)} <variable> {,<variables}
prompt = *<letters|<digit>|<symbol>{<letters>|«digit>|<symbol>}”
variable = <letter>{<letters|<digits>} [$] [<dimension>]
dimension = (<variable>|<mmbers>{,<variablex>|<number>})
%- statement = INPUT [<prompt>] <variablex>
prompt = “<letters>|<digit>|<symbols>{<letter>|<digits>|<symbols}”
variable = <letter>{<letter>|<digit>}[$] [«dimension>)
dimension = {<variables> |<number>) _
statement = INPUT [<prompt>] (;|,) <variable> {,<variable>}
prompt = “<letters>|<digit>]|<symbol>{<letters|<digit>|<symbol>}”
variable = <letter>{<letters|<digits>}[$] [«dimension>]
gi_me.nsien—=-é<ua;1able>{ <variable>})
;ﬁi statement = INPUT <variables {,<variable>}
prompt = “<letters|<«digit>|< symbol>{<letter>|<digit>|<syrnbol>}”
variable = <letter>{<letter>|<digit>}
dimension = <variable>|<numbers{, <variable> |<number>}

-

12. A student examines the source code of an old game she has at home to understand its
workings. Her intention is to create a program that will interface with this game. This
process is called

}‘}\')’ backwards chaining
reverse engineering

decompilation

,ﬂQ plagiarism
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13.  Following are machine code instructions for a particular CPU

IPT input a 2 byte binary ASCII code from the keyboard into the address specified.

LR load the specified register with the data held in an address.

CMR compares the contents of the two registers, and stores the largest value in the
first register

SR copy the contents of the given register into the given address

PR display the contents of the specified address.

The following machine code fragment is written

106 3 Qreo § !

IPT 2003
IPT 2005 3 [2 ;
LR 01, 2003
LR 02, 2005 -
CMR 02,01
SR 02, 2003 3
PR 2003 .

If the data 3, 2 is input, what is the resultant output?

(A) 2 |

y 3
C) 2003
(D) 2005

14.  The role of the program counter in the fetch-execute cycle is to
@ count the number of instructions that have been processed
MR specify the number of bytes to be fetched from RAM

S~ count the number of programs currently in RAM
@ hold the address of the next instruction to be executed

15. Aninexperienced new user of a recently developed software product would be most likely to
need to refer to the
(A) data dictionary , tutorial and installation guide
(B) user manual, system flowcharts and source code

algorithms, reference manual and process diary

| user manual, 1utorial and on-line help

16. When developing a new piece of software, the most appropriate order for a vanety of testing
procedures would be

structured walkthrough, test data, peer check

desk check, peer check, systems test, volume test data

) eliminate run time errors, remove syntax errors, acceptance testing

(D) use of CASE tools, testing report, module test, volume test data

Page 5 of 21
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Refer to the flowchart at right when answering Questions 17, 18, 19 and 20.

17. This flowchart is an implementation of a{n):

% insertion sort _
selection sort
bubble sort

) quick sort : Swap = True

18.  Which identifier could be classified as a flag?

'_(A) ' Swap

(B)--' Comp

(C) Item

©) Num oy
—————>

19.  Presumably a subroutine exists to perform the
Swapltems process. This process could contain
the lines:

(A) Item(Comp} = ltem(Comp + 1)
Item(Comp + 1) = Item(Comp)

Item{Comp} <

(B) lem{Comp) = Item(Comp+ 1) No
hem(Comp+1)?

Temp = Item(Comp)
Item(Comp+ 1) = Temp

Swapltems
Swap = True

(C) Temp = Item{Comp)
ltem(Comp + 1) = Item(Comp) |
Item{Comp) = Temp Add 1 10 Comp

Temp = ltem(Comp) I

Item(Comp) = Item(Comp + 1)
Item(Comp + 1) = Temp

END
20,  What are the bounds for the index of the arréy “Ttems”
Al OtoNum
{B)/ 1toNum _ —a \
| & °
0to Num + !
(D) 1toNum+1 Lf
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Software Design and Development 2001 Trial Exam

Section I

Total marks (60)

Attempt Questions 21 - 23

Allow about 1 hour and 50 minutes for this section

Answer in the spaces provided on this paper.

If you include diagrams in your answer, ensure they are clearly labelled.

Question 21. (20 marks) Marks

(a) PBC High School is currently using a computer system in the administration section
of the school. This system is not performing the way the school would like and they
now are in the process of developing a new system. A systems analyst has been
employed to assist with the development of the new system. As part of the process
the analyst discusses with the school the paraliel and phased methods of conversion.

(i) Discuss the advantages and disadvantages that the analyst may present for 3
EACH method of conversion. __
PMauLLﬂ F— Ao(vm+a61/Qj I_{ Y LAns gugl-w fm|(

have nt tost ald o&cﬁa Altows N?.w ngw \—o
he fesked ‘HM’W%Q\W dhat 1 om,fcuql?* em o&s;r\ea{

h KQ\O&JEJ{V\A'C\M_J ¢ IQ-?.o;uw-QS V\/\{_)g\e 5d‘0\:€F Yo woy bk p(q(nrx;

c\/\v_mﬁew@ S‘mﬁ n.e_g,g( L learn NaAS {%+Wk !; vIaY E
Prol'p‘(.ﬁ-z e an e =
\Ol"\":'\("'{t/oL AAVE‘M l/'\'ﬁfh Yo Xl "‘"“];:Y\ m\,:{.(\: LVJ}[ I{( rwsv Q%’

ALy o \WJMuao{UCuL tmthm‘fa,ho.« o(: VW, gpi{;J[_QW! Dge;:(
PQQUJ('Q as Wl(?wv] fx.-\«cl(ta‘ff Dum{\/mfw)(&g (owu M 0
03\— f-fz g(no3r3v~n pwﬁ pro(glﬂmas’ 1)-‘2. /m@kui’.i

+ AP ore - Urth | ofre. GAA
(ii) Explain the factors that should be considered when drawm g u;fthe hccncmg

agreement between the school and the software development company.
« How W‘OW‘M UMﬂf‘w{‘QJs Con g e p VoL o
L o e 14 k
T¢ H‘ (bwaz & ren. Qin y'u?;{—w o,’lj’ 1Wense TYf
/
. FD{ w’qo‘(‘ purroogxs (&;m( uup fo( \ ) Cm/
Lo\m es loe A ool e - '

‘Lfﬂbfifw 6F e PrOfoK‘M/L (o kool . Avfior

& (.("\/L{_ i’?& V\-Q(ﬂ( e po»’\S] }(.9. ‘&)r h/“'\sb/.ge 2//
amd  Cubseg wﬁ"t} dwaqa C a4 A :

.(\_/
T(‘b Page 7 of 2]
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(i1i) Describe the documentation that needs to be created by the analyst’s company

before the implementation of the solution commences. 3

v Need Fo wreate. (PO clevds o :
;o curannA mmtf 0v+pv{"§ aund Procestls
watdes s aclrene outputs.

v tonalt chwwt To Aot Tane Mo (,(,'H// +o

Vevious po-tse of 4\/\& Qroq vaun
' N 2

* e Si ean rwm {: c on /Of Vse r §
neeAs "Ww{ /“QC/ wvﬂWMJ of te
SOFWLWM

(b}  When using CASE tools it is possible to track the changes that are made to a
program, this is termed versioning. An operating system has progressed through the 3
following versions:

058, 058.1, 0S58.1.1, 088.2, OS9

Discuss the general nature of the changes that have occurred in the software as it has
progressed from OS8 to OSO.

S it/ vewsion 1m s (QQ&-(W’L\
MA €T .\/er'sé'-r\ av%fa/a F('ﬁ.z/(-f)iﬁos Ll wal a
m:;a{ﬂ_/oﬁ{ 'upc{éxjr-n. Yo He CYoarowh, Q\/d\
as  adding ' NI S Irﬁ'FU -.f\-tz/»ur ]Cem,Tv
% 0€ g. it lzvmsj el L A ner va€v+{’ MOV
tho vy (/'LE’(-’? to flcf'v“l IOVSS in *\/\4 -Prb%rm‘
%034 wds o Araenpahe vpdate Hat 2
L\_&A,m,e( Ve ov S peats (;7[ fle g >/

FY@Q(VQVVV\ S*G,‘ﬂff‘? f‘"""-v"““ l“‘?
U
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(c) An Interstate bus company travels between Sydney and Melbourne. Along the route it
collects passenger’s at designated terminals. The bus company decides that at each
terminal a touch screen will be installed as quickly as possible. The screen will

provide the following information:
» 4 timetable for all their buses
» the estimated time of arrival of all buses currently on-route.

(i)  Describe the software development approach that would be most suited to this - g,
project. Justify your answer with reasons.

R aqpi A 6’*7/3_,40(1"0:\,?“1'04 W/Loww&\/{*-.
e "solv-Hlov: nep g o e U’\mﬁed o;,u«'c(d»/
o A c{r’r\ecH? "Mlpl-_ewwwf’.ﬁm +':‘X/\9,frw
ond resoorc€s are (ew . The (¢ N0 nag o f*"/’ /.
A -%z Sjrr'uc{“vr‘ed z%_'p_prou('_(a as j{‘ ,‘g —

J . -
r’u‘ht«—{, o S“m&i/% fvwrfﬂ M@ﬂﬁﬂ-%“?"l

(i) Identify the constraints that would need to be considered in determining the 2

1technic§] feasibility of this system. _
Be doetor o — Tle lbuwf b pong i aru‘.f} {/
M‘\;a A [ | At 4’{#1 10;/4 OXLL )
— N
Feciy ﬂl(‘()«(f- Tk F\fogqrrmﬂ-ia/fs v\/au'o{ /\ug( k;\,ow('fz‘(gﬂ
W

n{' fovein SceEeans. hvo naort Q,;?ﬂ-&i‘f"‘("ﬂm‘l* (;c?ﬂﬁlV’ﬂf{!
ace © Sociek ™ How will He vsers reactd Wit Han
OCC'E’/'p(LJ. e nea -&o(u‘f’;am voedh . TM“ As wag
5'&‘(»*&0( !J('b\.ﬂo«, F’\-Q-Q,cf{ )r@ _}twvb{-'{.d;w\ﬁ/"\ﬁ‘ M Std.ﬂ’{w\

&S C‘/Vilc LL'L(' as ,0'0-‘5z L/&'.

(i11) Create a E:omcxt diagram for one of the touch screen terminals. 2
RBus COMPANY  AUSTRALIA
welteme ‘.

View @sTinnated
e ot e ved
for buses on-rovtt

Vit himetalke
{.::r C’\,L\ louse s

To v ’f\«'\i’. CLPpro Pr{a,'T{{
on -P\.AJL S nedy | HELP
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(iv) Discuss the methods by which the quality of this product could be assessed. 2

SviYalde reoction 'htﬂ/\ﬂ - Tle vser ( »
does 0Ot woard Fo wart 4 xdendad

engihs Of Hoe for fie elevant serean to
ww i,p

Case of veo - Stuuld ke trsy o use G 6\
()-\-Ymtﬁ[f\"'(awrwb"’"(?“ | er:Uh}m? no ,q(/n[a,qw%7
‘l’&c(«m ca/( fW*O/\- Sholet CﬁL‘f‘Q{ -Fmr &I{, L S8 &
“«rt (s Mu&‘h Qs /@OS‘&}V&Q (‘6‘} p{fSM«JQ{-‘(

: A
pueple | L

End of Question 21
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Marks

Question 22. (20 marks})

(a) A birthdayn
-~ program will display a list of people who have bi

The data for this system is read from a text file containing names and birthdates. A

»

otification system is currently under development. Essentially the
rthdays within the current month.

sample file is reproduced below:

(i) Design and describe a possible data structure that could be used to store the data
retrieved from the text file. Justify your chmce of data stﬂctur&c
Uied.

Johnno, 14,6,1983
Smithy,27,11,1984
Jen,2,1,1990

Margy,17,8,19877
3

Air Mru.’l/lq of )\-Qwr $ eoul

T reco.««a/ ontTains {;et‘d_( on each mdfwm'v@/{

inc | namd falou,; Al o.r\,’rL M\ﬂf( e o of io;,f'L;(M? .

I\]O\Mf\.e, woulel ke @ Sf’r{ﬂ(»] , I/{GVL, r/l/\.é’l'kt—t‘ %
S,L,‘(,Ll -

CM/\A iﬂrﬂ‘f’w l’\{'e,(}U?\ (Cﬂns}‘mf‘r
oS P\?_,M\-Q/SM\ cu{'lo C)F MOV\‘H/\ f,.\ -]—Q/tl“' Fufmmp\{

(Nou@m%—b roaar  Haan ll) cold he IMyLRVLWﬁQF‘[

(ii) The following structure diagram is being developed to describe the connection

L]

between sub-routines within the program.

BinhNote
ReadData Find BDays Edit BDays
CheckMonth Add BDay Delete BDay

Describe, in words, the processing modeled by the above structure diagram.
Laddbote Fived BPoys and CA+bDery ¢ are sulo nmwdyll s o £

M"";"‘ {fJf‘OP'IYaMi Fl‘hABD IS e FC/LLﬂ.i i?r\, o nth MJ
"Q’Nf'«tc\ o ©ivd GC e |

ftovH'S ArSf’“"‘vf‘d!\ Edith Oens oMows add®D oK

Re lete V3 Doy modvies Yo e called and pq{\,rrn

-La E‘A."‘ﬁ!omg r\,\oo{uu. Wienm ddong . Tlan 4tz

uSey Clhm adkd or J‘Lt&{-Q o Lf))/ﬁm(ﬁi

once o . TlAb] bowe @ desCidl on Yo moke as

1o whede g olo
t
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(iii) The IPQ chart that follows describes the processing required by the “Delete
BDay” process.

IPO CHART for the DeleteBDay process

Name Find name in array
Set flag to true if found or false | True or False
if not found

Store the index of this item
Move lower items up 1
Decrement number of items

1. Create an algorithm using either pseudocode or a flowchart to accomplish this
task. Your algorithm should use the data structure you designed in part (i).

A
Mmoake Oorran [l..max] 9{1 pQE,QvfiS
MmAaX = max aumbly wmtvie s
rec-,o-.fak_‘

namag ; 5%-v.n(j}_'3o]

d‘%' nnontly aaamdl v h e th,/ .

Svlol:'rof(]mom Delete 600u\1 (nw \C[‘“ }{O”ﬂ‘jl i‘H?AN\,)
bein
floq= {adse

: 4
ﬁtﬁo h c&mil frgﬂ:‘n&/ierd;mﬁ
& f
;’g " ] namse - newWL

vam ({mg—irwe) o (foond=n)

if flo\o"{-rue Print "Foud uges ovad ol.a.{-efes’(‘
g,rS'{ (‘V‘V\{' ‘No {DVV\C’( W\V\,“(‘CL\\
ay N = A to max Ao P\ G —
Trwf b mar e (e -ty
arrav {n#]‘u\m b Mrowﬁuwu-] Nana g
MFP\7 [“]GLau, = MVN\T[«H-C‘ o\o«l
AATaN{n]. Motz ourfang(nat]. wwiih

g: r M”[V\] .Uecv = MKM(M{) Ve

fish = tosd =)

and it /
@/\0{ SLLO pv oo .
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5 Would the DeleteBDay process be best implemented as a sub-program or as
a function? Justify your answer.

Svlopron moam - A {unctioy (s
st 5 L- fro grom] ~‘=\=lr~——-—-ﬁ=a=s$& HaaA
tokes m{a& Ui o fMM“F-%v? y Tt Au.qmdf
b do o sl cmeitic dosk | not m{ff/b
Compllx tusks 'H/ucaw» Lol ve Mw\/’ V,y_,ﬂh,b,(_gs )%
g»cILA evs g Dele+e BD&?_S SVL !ofaf}.v&w

dee § -

3. Parameters are vital to “top-down design” methodology. What are parameters
and how do they assist the top-down design process? Use the DeleteBDay 3

process to illustrate your answer.
Pon oo Ater s o€ va,(:,es s La.aﬂ‘—'& VW'LM)

’}Wke/ll\ -prom_v ’[L(AQ {,{Mcun JM /mﬂfq pVOqTrawn);EDV Ve
'L Cvboprocedire s of tha pacin pro;,ra"wvx TOP
AOvvh a{é‘(;nn (wolues ha/\/-'m(’ a [0;(4 ‘af-offy(,@m

Sni + n,ﬂjm SMH/{/&” M ‘{;,M/d/{(.ﬂ—v’ i;u;‘f'n?r\j
»HA(,J o2 We/ ‘llD f\"OﬁfW Pow/mve/{“efg

o2 /Maa+~Qc{ y e v y&,cl,( n Sec {’ :o'lr\ | {u C/{/L .
ws e nrecord of AL o e Qelyte by
ol e pnA A Wy{_z £ Ao«x/n s

e ded Ao MMSW/ Sulo progvoervis Z’/
. ' v

Question 22 continues on the next page
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-
(b) Testing of software solutions occurs throughout the software development cycle.

However, the use of live test data is usually performed once the final product is

operational. 2

(1) What is live test data and how does it dlffer from other types of test data?

Live test data 1§ “ral o id " +ert
doty Nt e progom 16 likely to encoonfd
v
\n I"FS W‘;G(G{M oru_/ov‘h o T+ Wq W\O(.L/f’(a
opreites volumis 33 dota Hoah 4ot dotn quﬂ o
cYcujm s Acda Hatl gpec-f‘f; el LV fests c2r fann
f f=

(U\C,M—ﬁ, éuc(« 289 bounc{’ov\y fg/(Uej oww'f
o—L hoer (AU A (4/( V()ULU‘QJ M mw\,, Ov 0 W_]L(J,\, l:
&~ Ly"- \J‘-QC/[ H-\ /\(,W{ \ﬂ.-orlq( (Q; A passt \ﬁ’l“ o Re

(1) Live test data is often used to test and evaluate particular possible scenarios.
Describe TWO different scenarios that may be tested using live test data. Ineach 2
case describe the nature of the test data set.

‘\/ \ &a}a Tia Froqra‘w\ Ma«j(ag ‘Foy o Caafh MQJSW ’n/\_Q
(AR

WA wf;e,‘ﬁ%q Arvf‘a co dol H’\(/(VOLQ o _very (N&ﬂ. nuzfobtﬁiﬁé’/f?ﬂﬂ{
Ma,f wv' ,he",{ b\ e pfters dext okﬂv’(ﬁ»m {

x\ Avoto g(,e/v\_MIO oAt am Mmbsllow u)ulrvd'—ﬁ

tor o themeprrk |, whvich owne ‘H/\.AV\G] Pt rﬁ(;o\/d(.-&

S bows nom,  proph tnkes fag pack n oA
/ W“"A ot e Tiere covlol e A @ 1-q~e.th/

lorcp. oo of /xe/zﬂb(ﬂ gt~ et ot

gvvkoujw\,e_/f {97 DH@“"/{ Yest dasbe

v

/

W

End of Question 22

[
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Question 23. (20 marks) Marks
The following scenario is to be used for parts (a) to (e).

You have been asked to design and develop a program which will test students in Year 7
on their French vocabulary. There are 40000 words they need to be tested on, categorised
into easy, harder, difficult and challenging categories, with 10000 words in each category.

You have been directed to store the words in a relative file on disk (called WORDS), rather
than processing them in an array in memory, as there are concerns as to both the memory
and processing speed required for an array-based solution.

(a) Why do you think a relative file has been specified for this task? Describe your
% choice of structure and order of the records within this WORDS file. 2

A re ot e Lite Wl vse lesc mal Mamory bt

is dlowt to tun - In Ay Case s.pa/ reht e W-UV“P oOVL(Q/#\
_ .- ra{ ) -

rﬂbl.' ‘ ot

I vvoudd Luu—»{ A dg‘ w i HA _(\9,[0{5 U‘L } :
o5y Lot , d { ot of/u»atwf‘m\ﬁ :eadﬂ /

\oGOD p(&(eb louq N ’ﬂxM-q vv"o\k@k l’ﬂ OC 5{(;{\.6) f—g -
Tia mﬁl\’fh £ VIIIWM‘E( wovloh wevlt hee :‘}\ IO(N’WL{@( 'po..;:ﬁo,\‘

(b) Design an algorithm, in pseudocode to print a random word from the correct
category on the screen, and ask for its English equivalent translation. If the 4
translation is correct, print the message "well done”, otherwise print the correct
translation.

ngOFtO(a/IOV"'\ fa,«,;{‘gm__wo/o{
?Q-L cwf'e«jﬂf"( froM W@O?rvﬁfm

get ravdon A bes ((o» Al el n (oﬂmwﬁ ‘0. abede whive
Y alwcdr e avx'&.%&lf)

(&.ﬂdﬂmnvmw - (Md,ouvunuww* O 00 . 4
\ f.
print “tamslate ¥his word \ g/
erint w::vd[] c‘a{-\eﬁo(l,'(rmg—tonr\numk}(] '
readin troms ot o
i‘F‘ Yroms lation = L-Jorc’\[l-j (ab%ﬁ(l‘l‘.' uma‘to"\fww“‘bu]
Hon \Orivd' "y ckop’\Q_ .
AW N ‘or;lv\l' 1nt,o(f-‘3C.f-,_ ‘H’\.{ Cyvie G+ tromsiak for, waS: 5
word 0] . Catecior (ro\mo‘dmw’lvﬂ\l)u
et i{ Jo I

einch S Prﬂray-cm :
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(¢) Draw a storyboard for the French program, labelling good design elements.

gt —_— . 3
Jsemnts L LOA D :
N ma,\h_«m _ NN\F
(o o S remch Test ¢e tion

. Beg: @

Test
tEventh woed hige
P se (i Sl ke

T v p\,iv\
Pa‘ OU vy,

etcome, ‘Stvdan
‘JU \,L(,Ll.lmf
Aot f u 1 Resy
B et of Q ' ‘ﬂc
IF\ \:.al ‘{ "dl 't\ A ?fat
it o o T el

& Yovr U:.’UW[/( wag kas?

Pﬂ-)-

(d) Assume that you now wish to make use of a new hardware device which will 'read’
and pronounce the words in a French accent as they are displayed. This device is 3

radically different from current voice synthesisers, and uses quite different loglc from
any current device.

Describe all of the steps and resources required to allow your program to be able to
use this device.

Yo will reed nsd ,w}ooHMH/H prog, y amr A€
o Ha -Q/VtOu(f)l/\ knmled% (l{ Yo don b lrare " Hs |
krnoled g v{u-xf&!{l?\ o lhtammfé 4s derice it
A Y P"OL,WM Ot Lov v brvv st e ool

U o C Ale namw howd e qondt inplo o]

‘;é into o ¥ g,o(vﬁam »wlum remna/LJL {'Jm,g\‘
Also [+ st b lo  folin rnto C.@nsr'o[-?xw(’i'gn 77
it He currend pordwoart gy et iz
Suﬁ/\tlﬁ;’v Yo run R N S‘@‘F‘{‘WM !{’ PO ¢

Boe to malt gune e meaﬂ'\ c»t.‘{‘v’W’L'L’]
vovks ,mep—E/vl‘z 4o provounie A ol s
U)f’f—QQr(’\T
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(¢) The following EBNF definitions define the verbs to generate a random number, and
to read a relative file in a particular language.
Read a record:
GET <variable> FROM <variable> USING <variablex

where
GET input_rec FROM stock_file USING part_no

reads the part no'th record from stock _file into the variable called
input_rec.

Random number generator:
<variable> = RND(<valuex>) + <value:

where RND (10) returns an integer value from 1 to 10

Screen display:
OUTPUT <«<variable> at <value>, <value>

Other required definitions:

Letter = _|.|alble{d|e|fig]... |x|y|z
variable = <Letter>{<Letter>}

digit = 0{1|2}3]|4|5]|6]|7|8]|9

value = <digit>{<digit>}

Write a series of statements to generate the next ehallenging Frcr?ord to be

displayed at a position 100 across and 250 down.
ravndon = RND(lOooO)Jc'SOOOD /
anciom/

LET wovd FRom wovdafi ¥ usSiivg
OUPVT waord at \0D |, 250

Question 23 continues on the next page
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(f) Debugging code can be a frustrating task. Fortunately there are many techniques and
tools available to assist programmers to isolate errors in their code. Name and

describe the techniques or tools available to assist in the locauon of errors in source '
code.

Le x {ced M/GI[.(A?/ ¢ 3 cloclks 'ﬂ/\_Q

SUn ko of Fle eoclp . Tl cmobes wovi A

. v , » } l
Mc[t@ C‘/\-UIIUW‘; Flhat Dot a2 sami o lon:
at fa omd of Fines Wv“}‘llp e valvec wr
2\ o §es o beoclksts F‘""r“uv‘? ,ete .

4

Al A !ocaaL&z/( oﬂwt.a,hqgif elhecls
B progrom s logic (prrsing) Tfmf
Shecke’ ot oléjqoﬂ'HAMS hare Loén
(ﬂw/\go/(-{"‘ﬁ-d o A A2 jn e qeveecth
Lol
T fisse  touo ore Lo~ hacked LM,,
oo deafhon Ov :%+{fpmf‘ﬂf‘~m RYOHPIV
CASE toob Moy he used to dedvct
av i Hone i e Mr"vlfj /500& ws oli'vie boq,
N0, plRgs ILQM oL rey 'posnzm“/ atr]
(ASE  toolo & Gun ar(m/foﬁ‘e et Aaka
Y fet LAl of ‘H/\(. loounet -9\4\4
velves %Lwrouqﬂx[&, |
ULSJ““? e P ot e o iR
1(,«9.2/ ot Crrecs, f c,ﬂmu beo e kel
w;‘H-\ Vivie Act{'ﬁ} -(—u-/m colh of s Wq&‘(M
Vsl - Tiie  coly mck— 4 Frotpbe/w\ Aot
wae hRan s QQJ) $ vl q;d(’,m&h"&")
v ot pr"ace_(f-*lm m*ﬂ"“?/b") rO\ﬂ‘g.yQ arronf-¢
b dofer. ""\
/{j }

End of Question 23
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Section 111

Total marks (20)
Attempt either Question 24 or Questions 25
Allow about 35 minutes for this section

Answer the question on a SEPARATE piece of paper.
1f you include diagrams in your answer, ensure they are clearly Jabelled.

Question

24 — Evolution of Programming Languages (20 marks)

(a) In this Option you have studied three new paradigms. Discuss the historical reasons
for the development of new programming paradigms. As part of your discussion
explain why Object Oriented languages have become so popular when languages
based on the Logical and Functional paradigms remain uncommon.

(b) The logic paradigm is based on facts and rules. Consider the following series of facts

and rules.

Facts Rules

1. mike is a deeg 1. If Ais adeegand B is a roon then A can

2. bill is a deeg joop B

3. mary is a roon 2. If A can joop B then B can joop A

4. fran is roon 3, If A can joop B and B can joop C then C can
joop A :

5. samis aroon

Use the above facts and rules to answer the following. In each case explain your
reasoning logically using only the given facts and rules.

(i)

(ii)
(iii)
(iv)

Can a roon ever joop a deeg?
Who can mike joop?
Is it possible for someone to joop themselves?

Discuss the meaning of the terms backward and forward chaining. Give an
example of each using the facts and rules above.

Question 24 continues on the next page
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(c)

(d)

Motor vehicles are a good example of object-oriented design. Each time a new car is
designed it is not necessary to design new tyres or new brake pads or even a new
engine, rather many of the parts are rensed from previous vehicles. These parts have
been thoroughly tested and can be used in the new model with confidence.

Explain the meaning of each of the following object-oriented terms. Use aspects of
the design of motor vehicles to provide an example to assist your explanation.

() class
(i1) inheritance
(ii1) encapsulation

(iv) polymorphism

Programs written using functional programming languages are often significantly
shorter than similar programs written in other languages.

(1) Why is this the case? Explain.

(i1) If the code is so short then why aren’t we all using functional languages?
Explain and justify.
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Software Design and Development 2001 Trial Exam

Question 25 — Software Developer’s View of the Hardware (20 marks) Marks

(a) The ASCII value for A is 65. What would the text string ‘FaCe’ look like as storedin =~ 3
memory, expressed in hexadecimal format?

(b) Using an 8-bit binary system, what decimal value does the bit string 10110111, 2
represent?

(c) What is the maximum range of numbers that can be expressed using a 3 bit two’s
complement binary number system? Demonstrate your answer using a table of

values.

(d) Using the ‘shift and subtract’ method and the binary number system calculate 74 )
divided by 5.

(¢) The IEEE single precision floating point standard has been accepted and
implemented within the floating point umt (FPU) of most modern microprocessors.

(i) Convert 24.250 to the IEEE single precision floating point standard 3
representation, and verify your answer by converting it back to its decimal

representation.

(i1) Explain the role of the exponent and bias 2

(f)  Design a circuit with 3 inputs which will only output a 1 value if the third input OR
the first two inputs are 1. If all 3 inputs are one, a zero is to be produced. Confirm
your answer with a truth table

(g) Describe how flip-flops are able to store binary digits. ' 9

END OF EXAMINATION
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